H & 0l & AHS B Ml A

24T X2 1 8 LBt 51I1RIR Dt
S BRI
Hm: QLES DEX HIMHIA HB
SH2l: AIRIO| FIZSHS DIRS I AHIAKIS (SHol: )
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
5ioteI 1,876,260 1,899,807 £23,547
2 110,175 110,175 0
Al 1,766,085 1,789,632 ~23,547
VES DEX HBHAHIA B 1,475,005 1,511,016 £35,921
=2 110,175 110,175 0
Al 1,364,920 1,400,841 £35,921
ARIOl M2ohs SIRSINHIAKIS 1,475,005 1,511,016 135,921
=2 110,175 110,175 0
Al 1,364,920 1,400,841 £35,921
0121 AfH| A BEAL 289, 164 285,924 3,240
201 LBr2 | 214,060 212,500 1,560
01 AR Er2lt] 65,176 63,616 1,560
ORIRAR 220 Ht= X M
52,0002 #3057 1,560 0 1,560
301 LB 9,142 7,462 1,680
14 JIEH2 A2 9,142 7,462 1,680
ORIANER 243 9,142 7,462 1,680
—Sald| A 2,064,002 2,064 2,016 48
—DE| 2T 647,002 647 504 143
~HBNR ST 2T 6,431,002 6,431 4,942 1,489
DAZAO SHOART 2 138,039 138,030 0
201 LBt2 ] 48,937 48,937 0
01 AR 22lt] 12,060 7,560 4,500
ORIZY 442 ISR AU~ 0182
17,0452 <44 CH 62 4,500 0 4,500
2 BB 3,877 41,377 £4,500
OJIEZH 448 24 4,500,002 4,500 9,000 £4,500
O AFRCH S ZHI X 22,889 22,889 0
2 22,889 22,889 0
201 Ler2at| 19,769 21,149 A1,380
= 19,769 21,149 A1,380
01 AR 22lt| 19,289 20,669 A1,380
OHXOIA B58 HH M=
2 3,620,002 3,620 5,000 A1,380
= 3,620 5,000 A1,380
202 01t 1,920 540 1,380
=2 1,920 540 1,380
01 2UH0i| 1,920 540 1,380
ONAYR DS Y MK A0l
2T 1,920,002 1,920 540 1,380
2 1,920 540 1,380
DIAZHIE 2Y 847,517 886,678 £39, 161
201 LBr2t| 250,478 248,438 2,040
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